ELTRIM

Blattnummer

T02-ST-11GB

Wiring Diagram

Dat.:  01.01.2023

Type ST and WO

Rev.: 1.3

For type WO use only cores 1 and 2 of drive units.

-1
—
ignition switch
—
il
!- ''''''''''' rT T T l Starboard motor
Portside motor | F1, 6,3 Amp | +| - | - |A| | cores 1to 5
connection 1 I connection
box . . box
1 1
- : i : =]
T 4] + |4 T
3| S |3
1 1
) v " 2| M |2 . | (
— + 1 M| + T
L | Steering Unit ST | |

12V (24V) |

| 1123 [4]5]6|7[8[9]10] ; o

s g e e Ol B
111 I 1 1111

2. Motor connect :
core 1 and 2 only | cor

| 1 |2| 3 | 4 | 5|é|;|8 | 9|10| Connection Flybridge Unit

12V (24V)

@)

2. Motor connect

e 1and 2 only

E L T R l M Blatthummer
T02-ST-21GB
mounting of Dat..  01.01.2023
tabs and motor Rev.: 1.3

1. Adjust tabs at the stern, so that there is no downward projection.
Draw through hinge holes and drill them. Coat screws with permanently resilient seal
and secure tabs by the screws.

2. Connect the motor to the plane via push rod. Set a plain lath or simular device to the
boat floor and let rest on the lath. Adjust motor and mark the point where the lower edge
of round flange obuts the stern. Lift motor with 5 mm above this mark, draw through
holes and drill them. Coat screws with sealing compound and secure flange. attache
motor to the flange by means of bolts and splint.

3. Drill a hole for the cable above the water level, champfer hole edges inside and outside
carefully. Pass through the cable to the connection boxes.

Put the end of the tab 10 - 12 mm higher, when the boat goes more than 25 kn.

Der Hersteller erkart die Konformitat im Bezug auf die elektromagnetische Vertraglichkeit geméss den Normen
EN 55014 1993 / EN 55104 1995 entsprechend der Richtlinien des Rates der Mitgliedstaaten (89/336/EWG).

elTrim GmbH Tel. +49 (0)2353 6658752

1 1 |board bearing

2 4 |[screws 6,3 X 38 mm DIN 7981
3 1 |bolt

4 1 |split pin 2 x 25 mm

5 1 |motor case

6 1 |bellow

7 1 [fixing clip W5

8 2 |fixing clip W5

9 1 [fastening bent

10 1 |screw M6 X 25 mm DIN 931

11 1 |nut M6 DIN 985

12 1 |trim tab size ...

13 ** |screws according to tab 4,8 x19 mm DIN 7981
14 1 |cover against buckling

15 3 |screws 3,5 X 13 mm DIN 7981




